Z2S10.. . 3XEZE hn =X il 45 5 ) )
4 31 B 7 R ”

#E(NG) 10 EAHZE31.5MPa | fEZE120L/min

AL

~#E Pz ]SFHEDIN 24340

=] LLJE it e 5 P — AN A TRl D
- madi, HTEHSR

it B

Z2S 1078 5 ) i A2 S n X B 1/ . e ] ORG-S e = A
TAEW A, JotdmeEgm m, FoE k. /EEA&ZTLJHHMZEAZUZBIZE
B2H B3, M % 5 ) W b .

M A LERA2, R b AE AR RS (1) b, 1R ) A Is Bl O HE
AN K (2) BT 18 BE o B ) 1) (3) 8 48 1l S T I B, il v T L AAB 29 1)
B1, J& Jyyh7EB2JE #lfy, FRL ) &) (3) A 4T T .

g BRAIE PR A 1) ) AE 8 0] A BT SR OC T, BRAIA T, B 5 Al g
5

T FHA3 T FLA2 T AA L @ ? Pt
\Al \
3 U Wi

e NN
//,@L?“‘/‘f

N M

s M e

72S10. . 3X/... 380 5w
I-fgts 2-4NER 3-F A

BEFs
7Z2S10A. .- 3X/.. 7Z2S10B. .- 3X/.. 72S10. .- 3X/..
©) @ ©)
__J | _ _ =7
o i3 D
©) ©) ©)
TA P A B TB TA P A B TB TA P A B TB
O =@@Mm; @=JERMm

104




THES
[
728 | 10 —I 3X/
|
2 2 428 B ) 1 Johrid= TR B
PE= ARSI )
1038 % =10 3X= 30~ 39% 4
‘ ( 305 39 RN LBERERE R HRFFAE)
A, BJES F7 B j =-
AJFE AT 5[] = 1= JTJA H 730 15MPa
B A . ) =B 2= JF )i K 770, 3MPa
= JT J8 I £30. 6MPa
4= JFJ5 JE F71. OMPa
AR EE
R i1 TG R B S e 2
TR G- S IR % &
S TR 15 Y SR R ENAS 16385594, HEFERT e 2%
R BN B 10=T5
TRV L B Y T | -30FE+80 (TEgIeaE)
-20FE+80 (MRS
A Y mm’/s |2. 82500
TAEET MPa |31.5
ST L/min |120
iyl L5
a2 GE ) MPa |0.15. 0.3, 0.6, 1.0
AR A1/A2=1/13.4 A3/A2=1/2.68 (L& I#IEHE)
i kg |3

51 # 2% (FEv=36mm2/s K& t=50C it il 15 )

2.5 —A—-Al; B—=BI
L] — —Al—=A; Bl —=B
2.0 I
= 1.5 ] = == AN ED i)
[al
< | — _— 1—0. 15MPa
W T = 2—0. 3MP
) — | =T ol
0.5 — — 3—0. 6MPa
T | ]
S N R R 4—1. OMPa
0 10 20 30 40 50 60 70 8 90 100 110 120

MEQ L/min—

105



TR (B84 mm)

72S 10784 & fin =X 42 1 m) 1)) A0 R A

®4><Q)6.7 70
@ Q 153.5
2-0JF & : 0R2050
— @D P1 @ — G 1A, B, P, T)
I 7‘ A {} . ‘F 3—hr
P NN ! A=l CIB I3 3
] A1 A | 5 FIAE R 5
! ] TAN; \g}TBl i 631 1A, B il 355 7 &
IR ] 52 MR AT -
10 37 GB/T70.1-2000 ME4T4XM6
15.5 128 ¥ EHH 4MA=15. 5Nm
159 WRET T AT 1R
— £710. 01/100mn|
50. 8
%%/
37.3
27
4XM6/12 16. 7 ‘ N -
@« LR A P A TR I L
! P Van -
| \ an A T
| A ‘ | Lo
B N I
\ VARN \ “l K
D g
)
N2

4X(10. 5max

106






